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WEST BENGAL STATE UNIVERSITY 

B.Sc. General Part-II Examination, 2020 

MATHEMATICS 

PAPER: MTMG-III 
Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

 Answer Question No. 1 and any three from the rest 

১ নং pű এবং অন° �য-�কােনা িতনিট  pেűর উtর দাও 

1. Answer any four questions from the following: 

িনmিলিখত েয-েকােনা চারিট  pেűর উtর দাওঃ 

2×4 = 8

(a) Find the significant figures of 0.001023 and 25.7890. 

সংখ°া dিটর সাথ�ক অì সংখ°া িনণ�য় কেরাঃ 0.001023 এবং 25.7890 । 

(b) Prove that x
x

x
x e

e
Eee

E
=

Δ⎟
⎟
⎠

⎞
⎜⎜
⎝

⎛ Δ
2

2
 using h as the step-length. 
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,  h-েক সীমা দূরt ব°বহার কের। 

(c) Define extreme point of a convex set. 

একিট উtল েসেটর pািnক িবn ুর সংjা দাও। 

(d) Write down the dual problem of the following L.P.P.: 

নীেচর L.P.P. িটর �dত সমস°ািট েলেখাঃ 

 Max 21 79 xxZ +=  

 Subject to 723 21 ≤+ xx  

  52 21 ≤+ xx  

  0, 21 ≥xx  
(e) If the radial velocity of a particle be k times of its transverse velocity, find the 

equation of the path of the particle. 

একিট গিতশীল কণার অরীয় েবগ যিদ লm অরীয় েবেগর k gণ হয় তেব কণািটর কkপেথর সমীকরণ 
িনণ�য় কেরা। 
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(f) Prove that )(
)(1)|( AP

BPABP −≥ . 

pমাণ কেরা েয, )(
)(1)|( AP

BPABP −≥ । 

(g) Find the extremal of the isoperimetric problem: 

∫ +′=
1

0

22 )(),( dxxyyxV ,  given 0)1(,0)0(,2
1

0

2 ===∫ yydxy . 

নীেচর isoperimetric সমস°ািটর extremal িনণ�য় কেরাঃ ∫ +′=
1

0

22 )(),( dxxyyxV  

েদওয়া আেছ 0)1(,0)0(,2
1

0

2 ===∫ yydxy । 

(h) Obtain the difference equation from the relation: xx
x BAu 75 ⋅+⋅=  

where A and B are parameters. 
xx

x BAu 75 ⋅+⋅= এর অnর সমীকরণ বািহর কেরা। েযখােন A এবং B parameters. 

  
2.  (a) Compute a positive root of 062 =−+ xxx  correct to 5 (five) significant figures 

by Newton-Raphson method. 

Newton-Raphson-এর পdিত ব°বহার কের 062 =−+ xxx  সমীকরেণর একিট ধনাtক বীজ 
িনণ�য় কেরা (পাঁচিট সাথ�ক অì পয�n)। 

6

(b) Using suitable interpolation formula find )5.4(),5.0( ff  from the following 
table: 

উপযুk অnঃমান সূেtর সাহােয° িনmিলিখত েটিবল হইেত )5.4(),5.0( ff এর মান িনণ�য় কেরাঃ 

x 0 1 2 3 4 5 

)(xf  1 4 9 16 25 36 
 

6

(c) Show that 12341
3 33 yyyyy −+−=Δ . 

েদখাও েয, 12341
3 33 yyyyy −+−=Δ  । 

2

  
3.  (a) Solve the following transportation problem: 

িনmিলিখত পিরবহন সমস°ািট সমাধান কেরাঃ 

 D1 D2 D3 D4 ai 

O1 15 20 13 21 15 

O2 22 15 19 14 12 
O3 16 12 14 31 13 

O4 24 23 15 30 20 

bj 16 10 10 24   

7
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(b) Solve the following L.P.P. by Charne’s Big M method: 

নীেচর L.P.P. িট Charne’s Big M পdিত ব°বহার কের সমাধান কেরাঃ 

 Min 21 34 xxZ +=  

 Subject to 82 21 ≥+ xx  

  1223 21 ≥+ xx  

  0, 21 ≥xx  

7

  
4.  (a) Write down the equations of motion of a particle moving in a central orbit under 

a central force P and deduce the differential equation in the form P
dr
dp

p
h =3

2
; 

symbols having usual meaning. 

েকndীয় বল P-এর অধীেন েকndীয় কkপেথ গিতশীল একিট কণার গিতর সমীকরণ েলেখা এবং pমাণ 

কেরা P
dr
dp

p
h =3

2
; pতীকgিল pচিলত অেথ� ব°বhত হেয়েছ। 

7

(b) A particle moves in a central acceleration 2)distance(
μ . It is projected with 

velocity V from a point at a distance r from the centre of force. If the path is an 

ellipse, show that the periodic time is 
23222

−

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
−

μμ
π V

r
. 

েকndীয় tরণ 2)(
μ  এর অধীেন একিট গিতশীল কণা যিদ বেলর েকnd অেপkা r দূরt হইেত V 
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5.  (a) Find the mean and median of the distribution given by the probability density 

function 10,)1()( ≤≤−= xxkxxf , where k is a constant to be calculated. 

একিট িনেবশেনর সmাবনা ঘনt েদওয়া আেছ 10,)1()( ≤≤−= xxkxxf , এিটর গড় ও মধ°ক 
িনণ�য় কেরা, েযখােন k একিট rবক িনণ�য় কের িনেত হেব। 

4

(b) Find the mode of the following frequency distribution: 

নীেচর পিরসংখ°া িবভাজেনর সংখ°াগিরŸ মান িনণ�য় কেরাঃ 

Class 45-54 55-64 65-74 75-84 85-94 95-104 

Frequency 4 13 19 32 12 6 
 

4

(c) Prove that the correlation-coefficient between two variables lies between 
–1 and 1. 

pমাণ কেরা েয, dিট চেলর মেধ° অনুবd সহগ –1 এবং 1 এর মেধ° অবিsত।  

6

  

দূরt 
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6.  (a) Solve the difference equation: 

অnর সমীকরণিট সমাধান কেরাঃ 

 xx
x euEE 412)107( 32 +=+−  

4

(b) Find the extremal of the functional: 

Extremal িনণ�য় কেরাঃ 

 0)0(,0)1(,)12()]([
0

1

2 ==−′−= ∫
−

yydxyxyxyV  

4

(c) A particle describes the path θθ nBnArn sincos +=  (A, B are constants) under 
a central force to the pole. Find the law of force. 

একিট কণা একিট েকndীয় বেলর pভােব θθ nBnArn sincos +=  বkেরখায় চলমান। েকndীয়ক 
বেলর সূt িনণ�য় কেরা। 

6

  

7.  (a) Show that the set of all basic feasible solutions of the L.P.P.: 

 Max 0,,
rrrrrr ≥== xbxAxcZ  

forms a convex set. 

েদখাও েয Max 0,,
rrrrrr ≥== xbxAxcZ  L.P.P. েত সকল কায�কর সমাধানgিল একিট 

উtল েসট গঠন কের। 

7

(b) Find the optimal assignment for the following assignment problem with the 
following cost matrix: 

িনmিলিখত মূল°-সূচক ম°াি¹k িবিশŶ আেরাপ সমস°ািটর সমাধান কেরা। 

 J1 J2 J3 J4 J5 
A1 11 17 8 16 20 
A2 9 7 12 6 15 
A3 13 16 15 12 16 
A4 21 24 17 28 26 
A5 14 10 12 11 15  

7

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  
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